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COMPITO 1

1. F(z) =logye (2v/2° — 1 — 2arctan /2% — 1 + 3);

2. y(z) = —xcotan (2z) + &;

3. a<0;

4. {(z,y) € R? : 2 — 2¢? = 0} che sono tutti punti di minimo assoluto;
5. m =5 assunto in (6, —1) e M =9 assunto in (8,1);

6. (3,0);

7. p(x,y) = 33(z —y)*? + by(z — )"/ — 1];

8. I =6.

COMPITO 2

1. F(z) =logge (2v/3* — 1 — 2arctan /3% — 1+ 5);

2. y(z) = —x cotan (3z) + &;

3. a<0;

4. {(z,y) € R?: 2* — 3y? = 0} che sono tutti punti di minimo assoluto;
5. m = 4 assunto in (5, —1) e M = 8 assunto in (7, 1);

6. (5,0);

7. p(w,y) = 3[4z — )** + 9y(z —y)/* - 2];

8. I=5.

COMPITO 3

1. F(z) =logye (2v/4% — 1 — 2arctan /4% — 1+ 7);

2. y(z) = —xcotan (4z) + ;

3. a<0;

4. {(z,y) € R?: 2* — 49> = 0} che sono tutti punti di minimo assoluto;
5. m = 3 assunto in (4, —1) e M = 7 assunto in (6, 1);

6. (7,0);

7. p(z,y) = 5[6(x — y)*? + 12y(2 — y)'/? - 3];

8. I =4.



COMPITO 4

1. F(z) =logse (2v/5% — 1 — 2arctan /5% — 1 +9);

2. y(z) = —xcotan (5z) + 1;

3. a<0;

4. {(z,y) € R?: 2* — 532 = 0} che sono tutti punti di minimo assoluto;
5. m = 2 assunto in (3, —1) e M = 6 assunto in (5, 1);

6. (9,0);

7. p(w,y) = 3[6(z — y)*/? + 1by(z — y)'/? — 4];

8. I=3.

COMPITO 5

1. F(z) =logge (2v/6% — 1 — 2arctan /6% — 1 + 11);

2. y(x) = —x cotan (6x) + %;

3. a<0;

4. {(z,y) € R?: 2* — 69> = 0} che sono tutti punti di minimo assoluto;
5. m =1 assunto in (2, —1) e M = 5 assunto in (4, 1);

6. (11,0);

7. p(z,y) = 5[T(x — y)*? + 18y(z — y)'/? — 5];

8. I =2.

COMPITO 6

1. F(z) =logye (2/7* — 1 — 2arctan /7% — 1 + 13);

2. y(z) = —zcotan (7z) + L;

3. a <0

4. {(z,y) € R? : 2* — 7y? = 0} che sono tutti punti di minimo assoluto;
5. m =0 assunto in (1, —1) e M = 4 assunto in (3,1);

6. (13,0);

o(z,y) = 3[8(x —y)¥? + 21y(x — y)'/? — 6];

I =1.




